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30630600 (39 mdMHY30M) 0bFHJO3MWS300L IgmMEO:
F(1)=1;
F(2) =2,
F(3) =3,
F4)=..
F(5) = 4;
F(6) = 4,
F(7) =4,

Bmemgzsbo mogol 0b@gM3mens3os
F(k) = F(k-1);

306390 Mool 06GJM3MESE0d

Piecewise Linear interpolation:

F(k-1) = a*x(k-1) + b
F(k+1) = a*x(k+1) + b

3502300035¢7m0o> a,b;

F(k) = a*X(k) +b
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Piecewise Quadratic interpolation:

F(k) = a*x(k)"2 + b*x(k) + c
aodmgomgocrmo: a,b,c
259Mmm3e900LSL A5TM30Ygbmo FoMEowgdo

Forward scheme: F(k-2), F(k-1), F(k+1l)
Backward scheme: F(k-1), F(k+1l), F(k+2)

Bmermgobo, 3063900 s oo Mool 0bEGH3mes3os:

0 th—




SLEHOMBODBOIOL 5dM356900L JmEgEro®Mgds -1 / seo. ;mg3Bedg 9d3055/93. 3

& Mmym6 3mdsmd9b gM9x303wo 53bd309d0:
polar

©535¢09ds 5.1.

»oEb30m0 3g0MmEIBOL 358mygbgdom asdmomgswmgo F(¥) = 2 + sin(wy — 7/8) gubdso0l 3o639wo Gogols
Domdmgdero G(p) = dF(p)/dy 390G MH0 Fo®dmgdmaol (Gy) s bmom FgEowosbo Foedmgdmaols
(Gs) 359mygbgdom, GmEgbsa £2=4 ©s ¢ ©oL3GIGHNM 39dHMOIo FahBHowgdol Mom@gbmdss N, = 80.
ao0momgomgm  F  gmbjgool  dgmeg  Hogol  Fo®Imgdmargdo H(p) = d*F(p)/dy’ 3963 MMo
Fo6dmgdmaol (Hy) s bmo GgoEomosbo §o6dmgdegeols (Hs) as8myqgbgdoo.

Gz5  39dH@OH900©6 s0syobgm N,  Fg@GHowol ddmby Lzs 39d@megdo bryermgsbo 0b@gm3mmoagool
a459my9gbgdom.
Gz5 399000  smoaobgm N,  FadGowol dJmby Mzs 39d@mMgd0 §MHRB030 06GHIOH3MEszool
2459my9bgd0m.
Hz5  399Bm6gd0@sb 50s0a0bgm N, FadGowol 8dmby Nzs 39d@m®gdo bryamgzsbo 0bEg®dmeszools
2459my9bgd0m.
Hzs  39dm®g00s6 s0oaobgo N,  Fgd@owol 9dmby Oz5 39ddHmogdo 8030 0bEIM3mEogools
a459my9gbgdom.

5539 3WSMHIe0o IO YdO:
30639 360303 9: L2, Ls; 9gmcg 46109303H9 M2, Ms; 3glsdg 4609303B9 N2, N5, dgmombg aMog303%g Oz, Os.
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0bG9MO3M5305 WigM36750L 3meEobmdgdoom

Bmaoghm Jgdmbgzgzsdo 30 536930990l 30MMBGBT0  0b3YMH3MH3o0l doBsbo Tgodergds ogml K
0903006 N {9mHEGH0owob s0aqbs, Gm@glsg N >> K (1)

d900m@0: 50350806000  565¢r0bH0  Rbgp0s,  beagrer  5bserobBo  Rbgzo0sb  sM3500306m00 N
@OlZOIOIL0 fatd0Co.

309350 m3909e05 K+1 §96E0wo Hdgmmmsgsbsg sGEIOm0 56 89mM@gds:

(ﬂ}, yqj}_, ey (ﬁj, yj}.. vy ($;;, y,lb}

@5M5b650L 3eobmdo:

L(z) = Z yit(z)

336550l BodsBoLM 3meobmdgdo:

tGix) = ] rotm (@) (@) o) (2o

0zmek 1 T Tm (zj—x0) (x5 —xj1) (75 —xj11) (x5 — )
et

5309090 306MHMBY: oM G000 56 MM YOS
Tj— Ty 70
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dsgoeomo 1.

sgowmm f(X) = X 13bdi00L 3 HadGHoo:
Inp = 1 f{$q}) =1
=2 flz) =4
To = 3 f{Ig) =9,

53530 063 9MH3Mwo©m9dv)eo 93@6;j305 @5M5650L 30obmdols godmygbgdoon:
L(z)=1- -2 -3 L4 r—1 1:—3+g r—1 -2
1—2 1—3 2—-1 2-3 3—1 3-2

3595¢0m0 2.

sgoemm f(X) = X 531643goobl 3 Hgd@GHogo:

xp =1 flxo) =1
Ty =2 flzy) =8
T =3 flz2) =27
535300 0b63)9MH3ME0MH 90O cg{ij@Ob @5M3b550l 3e0bmAol Qsdmygbgdoo:
L(z)=1- -2 -3 8:1:—1 1:—3+2? r—1 -2
1—2 1—3 2—-1 2-3 3—1 3-2

= 62° — 11z + 6.
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@53056:50L 06EHIM3Me5300L GYoEr0Bs30s T3¢ Msdd0

533560l 565¢P0BMOHO BMEIs:

el z; 1 €1 i
gt o0 re 1 2| | ¥
e e 1 - :
l;:_l I::_j Tn 1 Cn YUn
2459myqbgdo:
o polyinterp.m
>> v = polyinterp(x,y,u);
ii plot(x,y,"0",u,v,"="); function v = polyinterp(x,y,u)
Nx = length(x);
» - Nu = length(u);
v = zeros(1,Nu);
= ] for k = 1:Nx
st ] w = ones(1,Nu);
for jJ = [1:k-1 k+1:Nx]
b 1 g w = (U-x{)) -/ X(K)-x{A)) -*w;
ol ] en

v = v + wry(k);
end
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1093930 06¢gM3mmszool 3thmdergdgdo

GRPRYlelerle}

22

>>
>>
>>
>>
>> .75:.05:6.25; 161

>> polyinterp(x,y,u);
>> T

1:6; “
[16 18 21 17 15 12]; i

c < X
1l

<

12r

10

©535¢09ds 5.2.

polyinterp g«6J3o00l 459mygbgdoom dmsbobgm (-1,1) 06 ghzsedo 5 09396l dogH 99GBgwero
D9OGH0w006 sasb: 10l 3m0bmdos®o 0bEHIM3Mws3Eos 39d@™m™do: u = (-1:0.1:1);
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Md36-mdIb O xg030 0bEHIM3MEs305
6559393 900L52,56 399600 g3wbdsos - Spline
6599393-650939¢) 9650000 B1bJ30s, HMIwomsi Gglodwgdgeros 0b@gtzswdo bydoldog®mo FomEHowol

5039bs;

Piecewise linear interpolation
T T

22

20

T £ T < Ti41

Ye+1 — Yk

L(z) = yr + (z — 1) —
Thy1 — Tk
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“9056-md36 3MdMEMOo gMdoE o 0bEHgM3mes3os (pchip)
063 9m3mbE0 F9gGHowgdo: (Xk» Yk)
MB96-9056 39909960 0BEBHIM3MS30MM0 3Mbdzos: Y = P(X)

0696035000 M6 Im3gde HgoGowl dmeol:
hi = 241 — 2.
(3350 0b63)gM35¢L dogbood:
NESE g
06396m3msbE ol sb®ols 3mmbol Bgg3olgds:
dk = P’(l‘;\.).

M6 0b3JO3MbE) H9M G0l dmmol 0bEgmzswdo 399000 3meobmdosro (spline):

. 3hs® —2¢° h® — 3hs® + 283
Plz)— 3 Ykl + 73 Yk
2la_h ala — k)2
X H(q—q)dk_L 5 Mdk
h? h?
069035309600 BbJizool 360dzbgumds gdmbggzs 0b@gM3mesbd “r
D9OGH0wgdol 36033690 mdGdL: 1ol
P(xr) = Yk, P(2k41) = Y1,

P'(zi) = di, P'(Tk41) = dic41-
560 399900 3merobmdo (S-0b, 9649 X-ob JodsOrm).
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d9L5d9dg0s Lbgoslibgs 083¢gdgb@)o30s. 30AMTGd0: IbMOL JMmbol Ggg3slnds OlZME ™MW
06@9m3mesb@do ( dy).

P(z) = yr + sdi + s’ck + s by,

305 — 2dy. — dj.41 pchip

d. — 26, +d | '

b k — 20k + Qg4 151 |
0 — 12 g

= 12} . : ]

2 4 6 8

pchip @s 30bo L3O 560D YMHO FoOIMGdMEO. - ' ' ' '
—20 L .

2 4 6 8
30f o

0 - —
=] T _

535¢0905 5.3. 2 4 5 8

09500060900 boboBBg dmyzsboe  H9gOBH0wgdDbg ds6-7dsb 390 MmMo  0bFHgM3mmszool 1,2 s 3 Goyob
3bsEob Mo (omdmgdmegdo 3MOmo  0bGHIM3MEs30Mo  BwMbJzool Mobgzom  (396@MsGoEmMo
Do03mqderol Igom©om 5090 3 otdmgdmenls.
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pchiptx.m

function v = pchiptx(x,y,u)
PCHIPTX piecewise cubic Hermite interpolation.

h = diff(xX);
delta = diff(y)./h;
d = pchipslopes(h,delta);

% Piecewise polynomial coefficients
length(X);

(B3*delta - 2*d(1:n-1) - d(2:n))./h;
(d(1:n-1) - 2*delta + d(2:n))./h_."2;

o0 >S5
I

% Find subinterval indices k so that x(k) <= u < x(k+1l)
k = ones(size(u));
for j = 2:n-1

k(x@) <= u) = 3J;

end

% Evaluate interpolant
s =u - x(k);
v =y(k) + s.*(d(k) + s.*(c(k) + s.*b(K)));
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fu
%
%

%
%
%
%
%
%

n
d
k
wl
w2

pchipslopes.m

nction d = pchipslopes(h,delta)
PCHIPSLOPES Slopes for shape-preserving Hermite cubic
pchipslopes(h,delta) computes d(k) = P*"(x(k)).

Slopes at iInterior points

delta = diff(y)./diff(x).

d(k) = 0 1f delta(k-1) and delta(k) have opposites
signs or either is zero.

d(k) = weighted harmonic mean of delta(k-1) and
delta(k) 1Tt they have the same sign.

length(h)+1;

zeros(size(h));
find(sign(delta(l1:n-2)).*sign(delta(2:n-1))>0)+1;
= 2*h(k)+h(k-1);
= h(k)+2*h(k-1);

d(k) = (wi+w2)./(wl./delta(k-1) + w2./delta(k));

%

d(1)
d(n)

Slopes at endpoints
pchipend(h(1),h(2),delta(l),delta(2));
pchipend(h(n-1),h(n-2),delta(n-1),delta(n-2));
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pchipend.m

function d = pchipend(hl,h2,dell,del2)
% Noncentered, shape-preserving, three-point formula.

d = ((2*h1+h2)*dell - hil*del2)/(h1+h2);

1T sign(d) ~= sign(dell)

d = 0;
elseif (sign(dell)~=sign(del2))&(abs(d)>abs(3*dell))
d = 3*dell;

end
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6 9000560 06¢3)gmH3MmEsbEH oL 06 M3mEozool 899aq00

Full degree polynomial interpolation Piecewise linear interpolation Shape-preserving Hermite interpolation
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Q0535¢0g0s5 5.4.

5539 ®g39bo bgwol xgMbdzos 3MOMOO  0bEIM3MEsE00l  godmygbgdom. odmoygbgo  dsdulodmd 40
Ls0BEBHIM3MEs30M HgMEHowo. dowgdeo IOo Mbws dgoiEezql 1000 FodEowb.

258m0g9bgo 356589E Mo 0bEIM3mmsgos: X=X(t), y=Yy(t),
Matlab-8o {96O&o@gdol 0b6@HgMog@omeo 89yzs60l 3meo:

figure("position”,get(0, "screensize®));
axes("position®,[0 O 1 1]D);
[x,y] = ginput;



